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[image: image1.png]If the market value of a car was $6,000 exactly 3 years ago, what is its current market
value?

(1) Starting at the time of purchase, the market value of the car depreciated by 20 percent
of its purchase price per year.
(2) The current market value of a car manufactured in the same year is $2,400.

© Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
© Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
© BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is

sufficient.
® EACH statement ALONE is sufficient.

fsmeme.ns (1) and (2) TOGETHER are NOT SUFFICIENT
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